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Note: Answer any FIVE full questions, choosing ONE fult question from each module.

Module-l
I a. Express r,6'+ ai in the polar form and hence find its modulus and amplitude. (08 Marks)

b. Find the real part o1 ---J- (06 Marks)I+pos0-isin

c. Showthat (1+co_S.+I$*0)" +(1+coso-isiie); =r:.,"",,[;)r",(+) (06Marks)

- '-'slt' oR"
^ lu'--q : . a . ": j -' a' If A=it4l+3k, B=-i+2j+k Td''c=3i+J, findpsuchthat I*pE is
^t 

-t

perpend:{c {ar to c . 
r::. . ,,,,,,,i,. (0g Marks)

b. Find ffie area of the parallelogram whose adjacent sides are the vectors i=Zi++;-S[
and E=i*2j+3k, (o6Marks)

c. If f,=i+zi-3[ and E=3i-j+zt thenshowthat f*EandI-E ur.orthogonat.
(06 Marks)
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Vl+sin 2x =l +x-:--l-+-l-+.......... by using Maclaurin's series.2624

b. If u = rrn-'{I'y'} , rn.n show that xux * lrur: 3ran u , by using Euler,s theorem.
Lx+vl

c. rf. :2xy, v:*'-l 
.?*U 

x=rcos0,y:rsin0, find ffi
a. Aparticle*or.*tuiba['rn"".r*" *#, ,: I * (,2=2t-5 where t

b.

c.

the components,o'fvelocity and acceleration at t: I in the direction 2i+j+2fi;
Find the unit normal to the surface xy3z2 : 4. at (-l , *1,2)

Showthat, F-(x+ y+z)i+(x+ 2V-4j+(x- y+22)i is irrotational.
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c. Evaluate IIf -' + y2 )dx dy where R is the region bounded by y = x and y: x2. (06 Marks)

Find v.F and vx F where F : v1*' + y' + z3 - 3i5'z)
^+If F=(x+y+l)i+i-(**y)k ,then showthat,p':'cnrlF = 0'

Find the value of a such that F - (x + 3v)i.t (y iir)i*(x + az)k
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Evaluate IIIf-+ y+z)dxdydz
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7a.

is soleiloidal.
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8 a. Evaluate "-", *"
-/t #q$le"fSffa.
yrek
0-

,Ms-du!e-.5.
a, Scrlve : y(2x - y+ l)dx + x(3x *4y +3)dy= 0

ox vcosx+slnYf y
b. Solve I :+r:--------------- !- U

^''*dv sinx +xcosyifxf #
L"ffit " 'j.q$*h W.'%a*2v,*m**sc. Sotw'P* 2]=y'*ffiW 
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a. Solve . 1v *44i[ ,**:.:PdX * fl i:; i..*+::li F

dx.. ycosx +sin y+ y_ j'6i

10 svrvw ' ai '-i jrejJ ^ H -
b. solve ' ii-*"r:;2f -zxy3y* isi'v) -3*'f - 5ya;dy = 6

c. Solve,S*ycotx=cosx
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